b)

d)

2.1,

(2.

r,=0P=2i+4j+3k
r,=0Q =i-5j+2k

r+r,=(2i+4j+3k)+(i-5j+2k)
=(2+1)i+(4-5)j+(3+2)k
=3i— j+5k

n+r

r,—r,=(2i+4j+3k)-(i-5]j+2k)
=i+9j+k

alr - = V12 + 9% 417 = /B3

L=t n-rn

n+r, 1+9j+k

I+, - (83

+r, =10i + j+8k
X; +X2=10---(2.1)

yi—1=1
21+5=8
yi=2

721=3
|r1—r2|:@

JO —x,)7 + (2= (“1))7 +(3-5)7 =29

& (X, —X,)* =16
SX =X, = +4(2.2)
1),(2.2)

(X,,X,) = (7,3)or(3,7)

ri+r;




3.a)A=(a,,a,,a;) B=(b,b,,b,)
i j k
AxB=la, @, a,=(a,b;—asb,)i+(ab, —a,b;)j+(ab, —a,b, )k
b, b, b

A'(AX B): (ali + azj + a3k)' {(azba - aabz )i + (a3bl - ale)j + (albz - aZbl)k}
= al(azbs - a3b2)+ a, (a3b1 - a1b3)+ a, (ale - a2b1)
=a,a,b, —a,ab, +a,ab, —a,ab, +a,ab, —a,a,b,
=0

b) Ax(BxC)=(A-C)B-(A-B)C
={(i-2j—-3k)-(i+3j—2k)}B—{(i—2j—3k)-(2i + j—k)|C
=(2i +j—k)-3(i +3j-2k)
= —i—8j+5k

4. a,b 2 (axb,bxa)

X
ab+

1
+ =t
axb] Ve

—3i+5j+11K) [ bxa aXbJ

' |b><a| :_|a><b|
lax b =a]b|sin &

|a><b|_ \/]E

c.sinf =——

bl 2439



